
� No.254Q余両方-5-1 �

No.254Q余両方-5-1 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 9482÷ 8.5 (2) 1401.3÷ 1.5

(3) 1304.6÷ 0.19 (4) 8848÷ 1.2

(5) 3904.3÷ 7.4

� 13th-note �



� No.254Q余両方-5-1 �

No.254Q余両方-5-1 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 9482÷ 8.5

1115 · · · 4.5

(2) 1401.3÷ 1.5

934.2

(3) 1304.6÷ 0.19

6866 · · · 0.06

(4) 8848÷ 1.2

7373 · · · 0.4

(5) 3904.3÷ 7.4

527.6 · · · 0.06

� 13th-note �



� No.254Q余両方-5-2 �

No.254Q余両方-5-2 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 921.7÷ 0.17 (2) 1286.9÷ 0.29

(3) 2019.6÷ 2.8 (4) 41732÷ 6.7

(5) 4132.2÷ 4.5

� 13th-note �



� No.254Q余両方-5-2 �

No.254Q余両方-5-2 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 921.7÷ 0.17

5421 · · · 0.13

(2) 1286.9÷ 0.29

4437 · · · 0.17

(3) 2019.6÷ 2.8

721.2 · · · 0.24

(4) 41732÷ 6.7

6228 · · · 4.4

(5) 4132.2÷ 4.5

918.2 · · · 0.3

� 13th-note �



� No.254Q余両方-5-3 �

No.254Q余両方-5-3 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 11.633÷ 0.94 (2) 7.007÷ 0.61

(3) 6.588÷ 0.53 (4) 129.72÷ 4.5

(5) 27888÷ 5.2

� 13th-note �



� No.254Q余両方-5-3 �

No.254Q余両方-5-3 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 11.633÷ 0.94

12.37 · · · 0.0052

(2) 7.007÷ 0.61

11.48 · · · 0.0042

(3) 6.588÷ 0.53

12.43 · · · 0.0001

(4) 129.72÷ 4.5

28.82 · · · 0.03

(5) 27888÷ 5.2

5363 · · · 0.4

� 13th-note �



� No.254Q余両方-5-4 �

No.254Q余両方-5-4 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 1203.6÷ 0.13 (2) 4248÷ 8.1

(3) 839.7÷ 0.36 (4) 783.1÷ 1.4

(5) 58.991÷ 0.78

� 13th-note �



� No.254Q余両方-5-4 �

No.254Q余両方-5-4 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 1203.6÷ 0.13

9258 · · · 0.06

(2) 4248÷ 8.1

524.4 · · · 0.36

(3) 839.7÷ 0.36

2332 · · · 0.18

(4) 783.1÷ 1.4

559.3 · · · 0.08

(5) 58.991÷ 0.78

75.62 · · · 0.0074

� 13th-note �



� No.254Q余両方-5-5 �

No.254Q余両方-5-5 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 100.84÷ 4.6 (2) 4744.9÷ 9.7

(3) 1468.2÷ 5.6 (4) 4.757÷ 0.28

(5) 672.85÷ 6.9

� 13th-note �



� No.254Q余両方-5-5 �

No.254Q余両方-5-5 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 100.84÷ 4.6

21.92 · · · 0.008

(2) 4744.9÷ 9.7

489.1 · · · 0.63

(3) 1468.2÷ 5.6

262.1 · · · 0.44

(4) 4.757÷ 0.28

16.98 · · · 0.0026

(5) 672.85÷ 6.9

97.51 · · · 0.031

� 13th-note �



� No.254Q余両方-5-6 �

No.254Q余両方-5-6 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 11002÷ 1.5 (2) 17.932÷ 0.62

(3) 75123÷ 8.2 (4) 1354.1÷ 0.22

(5) 208.15÷ 3.9

� 13th-note �



� No.254Q余両方-5-6 �

No.254Q余両方-5-6 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 11002÷ 1.5

7334 · · · 1
(2) 17.932÷ 0.62

28.92 · · · 0.0016

(3) 75123÷ 8.2

9161 · · · 2.8

(4) 1354.1÷ 0.22

6155

(5) 208.15÷ 3.9

53.37 · · · 0.007

� 13th-note �



� No.254Q余両方-5-7 �

No.254Q余両方-5-7 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 6.265÷ 0.12 (2) 2543.9÷ 9.1

(3) 1961.8÷ 7.7 (4) 63.824÷ 0.97

(5) 855.6÷ 1.6

� 13th-note �



� No.254Q余両方-5-7 �

No.254Q余両方-5-7 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 6.265÷ 0.12

52.20 · · · 0.001

(2) 2543.9÷ 9.1

279.5 · · · 0.45

(3) 1961.8÷ 7.7

254.7 · · · 0.61

(4) 63.824÷ 0.97

65.79 · · · 0.0077

(5) 855.6÷ 1.6

534.7 · · · 0.08

� 13th-note �



� No.254Q余両方-5-8 �

No.254Q余両方-5-8 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 16829÷ 2.2 (2) 548.95÷ 0.74

(3) 5570÷ 4.9 (4) 217.81÷ 0.25

(5) 2904.8÷ 3.9

� 13th-note �



� No.254Q余両方-5-8 �

No.254Q余両方-5-8 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 16829÷ 2.2

7649 · · · 1.2

(2) 548.95÷ 0.74

741.8 · · · 0.018

(3) 5570÷ 4.9

1136 · · · 3.6

(4) 217.81÷ 0.25

871.2 · · · 0.01

(5) 2904.8÷ 3.9

744.8 · · · 0.08

� 13th-note �



� No.254Q余両方-5-9 �

No.254Q余両方-5-9 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 5.981÷ 0.16 (2) 3675.3÷ 3.7

(3) 34300÷ 4.1 (4) 81510÷ 9.1

(5) 9904÷ 5.7

� 13th-note �



� No.254Q余両方-5-9 �

No.254Q余両方-5-9 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 5.981÷ 0.16

37.38 · · · 0.0002

(2) 3675.3÷ 3.7

993.3 · · · 0.09

(3) 34300÷ 4.1

8365 · · · 3.5

(4) 81510÷ 9.1

8957 · · · 1.3

(5) 9904÷ 5.7

1737 · · · 3.1

� 13th-note �



� No.254Q余両方-5-10 �

No.254Q余両方-5-10 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 22.987÷ 0.59 (2) 1291÷ 0.14

(3) 64.534÷ 0.78 (4) 671.4÷ 0.54

(5) 5050.3÷ 0.95

� 13th-note �



� No.254Q余両方-5-10 �

No.254Q余両方-5-10 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 22.987÷ 0.59

38.96 · · · 0.0006

(2) 1291÷ 0.14

9221 · · · 0.06

(3) 64.534÷ 0.78

82.73 · · · 0.0046

(4) 671.4÷ 0.54

1243 · · · 0.18

(5) 5050.3÷ 0.95

5316 · · · 0.1

� 13th-note �


